Periphery is low
resourcesand not a
very developed area.
They aren't
industrialized, no
sanitation, and
health care could be

poorly done.

the least developed
countries (LDC's),
contaln 60-70%
primary sector jobs,
they export low price
raw materlals and
have a small tertlary
sactor and even
smaller secondary
sector, must rely on
Imports and goods

A low income per
capita,
underdeveloped,
doesn't have much
funding

High Birth Rates,
with larger families
(need for primary
sector workers,
no/flimited birth
control, high
IMR/CDR). Younger
average age.

low life
expectancy,
bad

sanitation, low
wages

poor, not that
developed,
worse quality
of life

to be periphary means
to have very low
resources and
development, there
would be a lower
quality of life, more
primary sector jobs,
lower life expectancy
and higher imr and
cmr

Tonot have a lot of

thing and worrying
each month how u are

going to pay your bills
living in Poverty

Periphery:
under-developed, a
lot of primary jobs

Low life
expectancy,
poor health,
bad living
conditions

Low life

expectancy,
low wages

countries in the world.
There are a low
economy and little
technological
advances. The
majority of the job in
the primary sector,
there is poor health,
water resources,
sanitation, and low life
expecta ncy. mgm are

Periphery

Periphery means to

not bevery
developed and to
Means there |s very have majority
little Industrialization, primary sector jobs.
you often have
axtrame poverty and
little access to
alactricity or clean
water. Most jobs are in
the primary sector,
and health Is terrible
Least developed
countries, lower
quality of life,
mostly primary
sector jobs.
Periphery has
low life
expeactancy,
MMR, IMR, and mustly
CMR, and itis -
not deveioped. primary
sector jobs

What does it mean to be...

Periphery is where
the country is very
poor, has more
primary sector jobs,
very poor health,
low life expectancy,
high IMR, CMR, and
MMR, and others. It
is very undeveloped.

Periphery is being less
well developed
economically, to have
higher mortality rates
due to lack of medical
professionals, and to
have a pretty bland if
not completely empty

economy

The major in job'
distribution Is primary
sactor jobs,
low=-quality sanitation,
low access to clean
water or alectricity,
low life-expectancy,
lack of education, and
CDPIs also low.



secondary sector jobs,
Industriallzation Is
growing, and there
are better wages for
workers. GDP
Increases, Improved
quality of life, and
higher service quality

Think
ESPN &
Indicators

to be semi periphery
means to have a

urbanization,

Means you are a NIC

little more and you have a
development, more glnha lization good amount of
secondary sector industrialization.

jobs, lower death
rates and higher life
expectancy

slightly developed, a
bit above periphery,
mid-wealth/poorer
side of mid

DUT are geveloping 1o
become a core, but
are not quite there
yat, they are also
refarred to as Mewly
Industrialized
Countries (MIC's), have
astrong secondary
sactor & focus on
Importing raw
materlals fram
marinhans. "nat fullb

Poverty is still high
but improving. Very
high wealth gap and
most people are in
second tier jobs

Mot as wealthy as
the core but more
developed than the
periphery. And
income is higher
than the periphery

means to be In the
transition from the
periphery to the core.
They are trying to
reach to the core, but
have not gotten there
yet. There are many
secondary jobs and
have a somewhat
better quality of life.
Also is known as the
Newlv Industrialized

Semi-

Periphery

Moro doreolop-od than
panphary. hovsoyvar, it
s lass weo althy and

dowolopod than cora.

When a country
once was periphery
country, and tries to
move and develop
into a core (MDC), a

lot of secondary jobs

slightly developed

not bad sanitation,

and slighthy
improved life
expectancy

— |

in the middle
not quite
periphery but
not at the
level of a core

region

What does it mean to be...

More developed
than LDCs, mostly
secondary sector
jobs with some
tertiary sector. Not
as developed as
core countries,
quality of life is

better than in LDCs.

means to be more
developead than
periphery but still
neads iImprovemant.
The jobs Ina
semi-periphery
environment Include
primary sector and
more secondary

sactor jobs

Semi periphery has
secondary sector
jobs but still some
primary sector, they
are developing to
become core, they
have ok health, and
ok clean water.

Semi-Periphery refters
to developing,
urbanizing countries.
They started to have
modern facilities,
banks, urban areas,
factories, dams. But
they also have to loan
or ask for other
countries' help due to
lack of knowledge or

Mo ey,

semi-Periphery Is too
have a somewhat low
tier - very low mid tier
economy, with
somewhat controlled
mortality rates due to
a small to medium
amount of medical
skills, also to have a
still building economy
that isn't quite stable

vet hut clasa



Think

Very high gdp,
plentiful accessto ESPN &

ter electricit d
o e ere - ndicators
healthcare. You might
be deindustrializing
and switching to

tertlary and
quarternary jobs

What does it mean to be...

Core

to be core means to
be thriving, low
death rates, high life

Best quality of life, expectancy, more

healthiest and wealth, and high
wealthiest well P well nd quality of life
countries, tertiary rculwrjr developed a
sector jobs and developed Sevalonad, and lots of
above and advanced e tertita <
countries quality of life. I'}"jﬂb Core reters to
E;E‘:;“ e fully-developed
ntries. Thei
For countries in the S people usually have
Wea ".'.hy cons. thay sre the found In the many opportunities high quality of life,
mﬂw::‘mtwnﬂd wealthlest, most and wealth. Jobs in lots of urban areas, a
and well or mast developed. mg;}p-:‘d t?:m:l:. m‘::‘r‘.";“:“ stable economy, and
Driven by w could help other
developed industrialzation and highly Industriaiized & fobs allthe way to nations. They also
innovation. There is a aver 50-60% of impact alot on the
the majrky ofjobs T incy et e ok peonomy and
tertiary jobs. jobs, high life the secondary and '
expectancy primary sectors being
Core is to have a
stable economy
with high mid tier to
Wealthy high TEEIEPTTW high tier medical
higher gdp, il Low high GDP, low IMR'“""E facilities and to have
higher hdi, wealth, more imr/cmr CMR, and MMR. They medlium to low
higher wealth, generations with . ' have ma bl Letla mortality rates
better quality advanced high gdp o
: education, health or higher jobs and
of life care, and water little to none primary.
They are the most

industrialized.



What has to be built to

Be DETAILED,
electricity, accessto  machines to help not General "
wood, ith building, »
meta/wood have  wihbuldes. = (1e.No'stutt  Create/support a factory here” P
work construction,  foundation, water, ~ OF "Etc".) Prove have a watar electricity, pipelines,
cleanand nuTuihh workers, you know. source/supply, access to clean
water, money e L water, roads that
:ucl. n..ﬂ. connect to that
ﬂmt‘ﬂm I;h:: area, materials to
""“'"""" 8 build factory, and
;.nu;'.:ﬂ*:.."u money to do all of
this.
pipelines,
Access to electricity, pnwaﬂinias, a :' :’t::“ source of
ﬂﬂ'ﬁ"ﬂ& S hearby city or electricity/power,
additional buildings town to use foundations, roads,
the factory ways of
transportation to
get to and from the
site.
coming tothe factory,
and you would need
gﬂﬂihtﬂ producs there some mode of
transportation has to
be there as well as
build a major pipe lines that access to electricity and water.
like dams, road to water can connect ci notbe 10 far from
electricity, connecting to and to the a city, e e
that area electricity resources that electricity to the factory in a
End I'ﬂﬂds. are I'IEBdBd d Mmtnf
and watet then you would need
Which to harvest the stone
and other materials
Damns, elactric for the building from
a A .
roads, mtuuut?-: Communication Electricity access, surrou ndlng natural
system, building for :miggﬂ:'h a:m:;:u hlhurl; I sources. then ya gotta
» LFAsn, su » plum . "
aors sanitation. Access to mpli:nulu;y.nnd“g make a f?u"dﬂtm"
Ports. enough out of said harvested
Sransportation materials. Then you

have to build the
EE“.E, then fcha rqofL ~



Questions? Need Help?



